
What remains to show A = UAk
Ais disjoint

5) finite additivity

T6) countable subadditivity e(A) = [l(A)
7) countable additivity]

m
*

We claimed
you can't have 1, 2) , 57.

(1)
, 2) , 7)

Prop : m
*
is countably subadditive.

Pf : Let &An be a sequence of subsets of R.
Let 230

.

For eacha pick a measuring cover &Ijk3















Let E , und Ez be measurable sets .
↑
disjoint.

m
+ (E

, Uzz) = m
+ )(G0zz)l +z) + m

+ ((E ,UGz)1E)
= m

+((z) + m +(f)

This looks like finite additivity . But is E
, UEz measurable?

-

Are there any measurable sets?

m
* (4) = 0

m
+(A)4) + m*(A1b4 = m

+ (4) + m=(A) = mF(A).










